il
2(x-3) <x
x+5<3(x-1)
9]

e 24 floll vraA vrekd 227

o @
T 1. [
4 0 6 -4 0 6

©) I @ ___
) T
0 2 4 0 4 6

1. 2(x-3)<x, x<6
2. x+5<3(x-1), x=4
ZEH AE RO 4<x<6




2. i+ P2+ B+t L2+ P80 AlAelE?

@i-1 @1-2 ®3i-1 ®2-3 ©i+3

~&B

i+ +B3+it=i-1-i+1=0

l'4k — 1’ i4k+1 _ i, i4k+2 — _1’ l'4k+3 = —
P4 B 4 e 294830 =429 430
=i+

=i-1




3.

xoll Tt o2 A 2 +ax+b = 09] T o] -1+ V2 o,
a,b®] gr& skt

> E

it

0x
it
S
I

|
—

v V. V
o
it
I

B

X2 +ax+b=0°x=-1+ V25 tYste] FejstH
3-2V2+4a(-1+V2)+b=0
—a+b+3+(@-2)V2=0
—a+b+3=0%a-2=09"a=2 b=-1




FALE y b2 4y —dx—y-2=0STZT 0, y 9

T-stozt,

P

Tigt

Ch "
| — Y

>
[> pal= 3

oHd =

o

~&B

x4y —dx—-y-2=0 < x o st W0z HstH
P -dx+y?-y-2=0
ol o, x 7} Ago|B & THA| p 2} 5t
D
Z:(_2)2—(y2—y—2)zo
y2 -6<0, (y+2)(y-3)<0
2 <y<3 A, y o HUIZ 3 olth




5.

OJAFRS A ax? + bx+c¢ > 09 7} p < x < g€ W], o]AFE54]
ex? +bx+a <09 SHE p,gE AA HEIHR? (F, p>0)

1 1
D x>gFEx<p @ -<x<=
1 1 1 P
® x> = @ x< -
1 ! !
@x>f}_—‘;—x<f
p q

B ~

ax’> +bx+c>09 A7t p<x<qg A

b
(a<0°],‘:’_§)x2+;x+2<0

& (x=p)(x-q)<0,x-(p+q)x+pg<0
(6

b
prag=-—.pg="_
a

cx? +bx+a<0 oA FHE a2 UHrH
b

—x2+—x+1>0('.'a<0)

a a

& pgx® —(p+q)x+1>0
o (px-1)(gx—-1)>0
1

Lx>—EEx< -

O

—_




